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t MULTIPLE CHOICE - circle the letter of the ct answer.

‘;Vohat is the value of the underlined digit in 7 6547

6 000
600
6

onwp

(1)

1.2 Thenumber3 608 rounded off to the nearest 10 is:

3610 '
3 600
4 000
3000

op@p

(1)

1.3  Which numberis missing In the following number pattern?

6 150; 6 250; ; 6 450; 6 550
6 050
6 350
6 300
6530

cnw>

(1)
1.4 What Is the 3™ multiple of 7?

(1)

1.5 The expanded notation of 9 812 is:

9000+80+2+1

20+ 8+90+100

10 + 2 + 9000 + 800

900+80+10+2 (1)

op®>

1.6 What unit of measurement Is used to measure the amount of water in a large bucket?
Millilitre

Litre

Centimetre

Kilolitre !

opP»
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1.7 What number Is thirteen more than 3 thousand?
A. 3000
B. 3130
C. 3013
D. 3030

1.8 1buy 8 apples at R4, 00 each. How much will | pay?
A. R32

B. R30
C. R28
D. Rl12

19 Afive sided shapeiscalled a
A. Pentagon
B. Hexagon
C. Heptagon
D. Octagon

1.10 The view of the shoes is a
A. Front view
B. Top view
C. Side view
D. Back view

QUESTION 2:
Calculate the following sums using any method. Show all working.

21 6523+1782=

(1)

(1)

(1)

(1)

[TOTAL: 10 MARKS]

()
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2.2 3842-1629=

()

2.3 26x42=

(2)

24 816+4=

()

2.5 Write a number sentence for the following:

The sum of two thousand one hundred and twenty five and four thousand one hundred and
sixty Is six thousand two hundred and eighty five.

- (1)
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2.6 Input Rule Output

8 —’L x2+4 1 (1)
[TOTAL: 10 MARKS]

QUESTION 3:

3.1  Steven, Thando and Mark take 2 packet of biscuits to a picnic. There are twelve
biscuits in the packet.

What fraction will they each get? T (1)

3.2 How many biscuits will they each have to eat? (1)
3 .1

33 P + T = (1 )

34 Thereare 12 people in a bus. One quarter of them do not like music. How many
people in the bus do not like music?

(1)

[TOTAL: 4 MARKS]
QUESTION 4:
Study the bar graph below and answer the questions. e T
Bar Graph showing favourite colours of learners
in Grade 4
16
p 14
£ 12
g10 1
S 8
is L
E 4 —
z 2 —
0 = = =
Red Yellow Green Purple Blue
’ Colours

6.1 What is the sum of the leamers who likes red, blpe and yellow?
(1)

e

(1)

~.6.2 What is the most popular colour?

6.3 What is the difference between the number of leamers who likes green and the
number of leamers who likes blue? ([13)]




4.3 Name this shape:

(1)

4.4. Complete the table.

Object Name Straight or Curved Sides
Oval
(3)
4.5 Draw the reflection of the sketch to make it symmetrical.
(1)
[TOTAL: 3 MARKS]

QUESTION &6

5.1 Fill in the missing numbers to complete the table below.

Input

Rule

Output

- e

x4 +6‘

42

52 Whatis the 7 number in this pattem? 3,7 11;15;... ;... _
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How many rectangles are there in this figure?

= - ()
[s1
Find the value of in the following sum.
-—— 24 + - 12 = 24 - e ww Cawe TIRALE ‘_”r—;‘1)
. [31
Tina walked 5km in 1 hour, How far would she walk in 8 hours? Do a calculation for
this.
(1)
[TOTAL: 6 MARKS]

QUESTION 6: Study the pie chart showing the different types of chocolate enjoyed by Grade
4 learners and then answer the questions that follow.

Favourite chocolate of Grade 4 learners.

KIT KAT BAR- ONE

TEX

AERO

6.1 Which chocolate is the least popular?

(1)
6.2 Which chocolates are equally enjoyed?

(1)
6.3 What fraction of the pie chart do the bar-one and kit kat represent altogether?

(1)
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